
> > 

> > 

(1.4)(1.4)

> > 

(1.3)(1.3)

> > 
(1.2)(1.2)

> > 

(1.1)(1.1)

> > 

9. Väestön kasvumalli

restart :

Nd t/N0$exp l$t C
v
l

exp l$t K 1

N := t/N0 el tC
v el tK 1

l

N0d 106

N0 := 1000000

vd 435000
v := 435000

yhtd N 1 = 1564000

yht := 1000000 elC
435000 elK 1

l
= 1564000

plot lhs yht K rhs yht , lambda = 0 ..1



(1.5)(1.5)

(1.6)(1.6)

> > 

> > 

> > 

(1.7)(1.7)

l
0.2 0.4 0.6 0.8 1

0

2.#105

4.#105

6.#105

8.#105

1.#106

1.2 #106

1.4 #106

1.6 #106

1.8 #106

l d fsolve yht, lambda = 0.1
l := 0.1009979297

N t
5.307018978 106 e0.1009979297 tK 4.307018978 106

N 2
2.187938736 106


